
B2 FIRSTTypical Key Word Transformation exercise

ANSWERS
1. She cooked more food than was necessary for the party.

She needn’t........... ......................for the party.

2. The guards closed the street, even though it wasn't necessary.

The guards ..… ......... the street, but they did anyway.

3. It wasn't necessary for Alan to get a taxi as his mother gave him a lift.

Alan ....... ..........a taxi as his mother gave him a lift.

4. It wasn’t necessary for you to buy food. Our fridge is full.

You ........ .......... food. Our fridge is full.

DIDN’T NEED TO DOvs NEEDN’T HAVE DONE
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